1. What pressure is exerted by 0.693 moles of oxyge# in a 7.55 L vessel at 18__"0? -of
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2. Carbon monoxide, a poisonous gas, has a formula of CO. How many moles of carbon
monoxide occupies a volume of 0.445 L at 333 kelvins and 1.5 atm?
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3. A gas filled weather balloon with a volume of 80.0 L is released at sea level at 102.0
kPa pressure and 27.0°C. The balloon expands to final volume of 835.0L at maximum

altitude, where the temperature is 0.00°C. What will be the pressure at this time?
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4. A gas filled weather balloon contains 33.0 L f aikat 10.0°C af a pressure 45. Torr
How many moles of gas are in the balloon? 53{;, Con e 760 o = .00 alm )
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5. Atwhat temperature would you need to have He to have 5.75 moles occupy a volume
of 45.0L at ressure of 125.0kPa?
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ples a volume of 0 445 L at STP?.:
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7. What is th f 25.00gsof meth f5’0’0°C\It i | f 60.0L?
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